Print on Plain White Paper (Part No. 122919)

MIDMARK

INSTALLATION

. Turn power on/off switch to off and disconnect
power cord from power source.

. Remove *“cover-base trim” foot end of table, re-
tain both cover & hardware for reinstallation.

. Remove hole plug from foot end of base and
discard.

. String footswitch cable through hole in base (ref.
Fig. #1). NOTE: Orientation of cable, (9)-circuit cap
of cable should be to the inside of base.

. Position cable such that the outer jacket projects
about 17-2” inside base and install strain relief
bushing, provided with Kit.

. Connect nine (9) circuit cap of footswitch cable
to plug of base harness.

. Remove #10-32 hex nut from grounding stud. Con-
nect “green” ground lead of footswitch cable to
grounding stud. Reinstall #10-32 hex nut.

. Install “cover-base trim” to base. Use removed
hardware in step #2.

MIDMARK

Medical Products

Midmark Corporation, Versailles, Ohio 45380
937-526-3662 FAX 937-526- 5542

INSTRUCTIONS:
OPTIONAL FOOTSWITCH FOR MODELS 175 & 176

9.

10.

11.

12.

13.

14.
15.
16.

String cable through bracket-strain relief,
footswitch end (See Fig. #3). NOTE: Orientation
of bracket.

Position cable such that the outer jacket projects
about ¥2" inside bracket and install strain relief
bushing, provided with Kit.

Using (2) #10-24x3/8 taptite screws & (2) #10
L'washers, provided with kit, mount the strain
relief bracket in footswitch (See Fig. #3).
Connect wire leads of footswitch to footswitch
cable leads at connector joints. NOTE: Refer to
Fig. #2 for wire connections at footswitch.
Mount“wire cover” provided with kit, to
footswitch using (7) #10-24x3/8 self tapping
screws, also provided with kit (See Fig. #3).
Plug power cord into power source.

Turn on/off switch to on.

Test footswitch functions to verify proper opera-
tions of table.

003-0445-00 Rev. B (8/98)



Print on Plain White Paper (Part No. 122919)

FIGURE #1

i)

/ ! )
/ |

= ®

NOTE: INSERT GREEN WIRE FROM
FOOTSWITCH CORD BETWEEN
SCREW HEAD AND WASHER

TO GROUND FOOTSWITCH.

WIRE COVER
#10-24x3/8 SELF TAP SCREWS

\ FIGURE #3
GROUNDING STUD
‘ REMOTE FOOTSWITCH
| 4 Le6 3""
STRAIN RELIEF BUSHING |
GREEN/YELLOW GREEN |
l L l| GREEN
- L
. RED/BLK RED/BLX
YELLOW ] P9 JQ/_@ am 8LK <
GRAY ORANGE ORANGE /s ORANGE
@—\ /@
WHITE WHITE WHITE s HWHITE
O— M <
RED @_/ 3)RED RED /, RED
VIOLET @_/ >)BLACK BLACK < BLACK T oack 3
BLACK ("4 4 )-BLUE BLUE \ \BLUE 1 DOWN 2
ORANGE (& 7)HHT/BLK WHT/BLK s WHT/BLK A AN N Eap— N, !
v\
i 2 UP ol N TN
L___c_\__
| N
+ 3]
o i
I
FIGURE #2 | — 1
WIRE CONNECTIONS 2 W




	cover: 
	Stock: 


